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45X0.05=2. 25(T-)
1.95<C2. 25 RIKF B2 msin s,

6. (1)1, 6X0. 7X3=3. 36 CEJ7£)
(2)3.36X38=127. 68(5C)

7. (12. 8—6. 83) X 2X7.5=89. 55(JC)

£ VIR

1. (D11 10.90 (2)0.225 0.23 (34> W
(1H1,2,3.4

2.(H @OX BHX DY
3.(1)32.3 49.5 (2)0.43 0.60
4.57. 35X 1. 5a86. 03(J0)

5.0. 008 X49~0. 4(kg)

6. (1. 18+0. 67) X162=30(m)
7.47. 36

FELiRm

1.(D1.54 2.9 (2)2.5 0.04 0.56
(3)6.5 X 2.4 + 7.6

MH1.4 X 0.4 2.5 X 0.4
2.(LB (C

3.0.0112 36.72 674 80.36 134 8
4. (HX 11 @2)X 0.8

5. 25X12. 5X32=10000 (Kf)

6. (1)96 (2)2019

£ )UR
1..\. .
-

; L
o e
2. (DX 0.2952 (2)X  67.67 ()X 10
3.1.3065 12.8 18 9 48.6 1
4.42.5X2+442. 5X4+2=170(31)
5. (16. 8413. 2) X 180=5400(7%)
6.0. 48X 3X24=34, 56(F3%)
7.27,2£70.32,
IR

1.50 % 54 Afg

2.7.3%7 3.6&3 4.2a4 2.5~2
74+3X2+4X4+2=31031)

31>>30 A TR, BT,
3.98.8a100 39.9a40 9.5&10 24.6~25
100+40+10+25X 2=200(7%)

200=200 AHZ TIEH,FTET .,
4.7.1~7 4.2~4 TX4=28(m?)
0.5X0.5X100=25(m?) 28>25

fi/NT WAEE, FIFLL 100 B RE S A5
5.2.2X4.5=9.9(km) 2.8X3.5=9. 8(km)
9.9>9.8 ANHEM FH AL,

6. T G 1 6y CHR  AEE 2 1y C IR

7.50X(8—1. 1)=345(J0) 345 J6<350 JC 1%,
% +HiRA

1. (1)0. 57X 98=55. 86(JC)
(2)120—100=20(T-FLHP)

0. 57X10040. 67X 20=70. 4(IT)
L4—2=20UNI)  54+1.5X2=8(L)

. 38.542.8X (42—4)=144. 9(30)

L (1)15.8—3=12.8(F2k) 12-+13X2=38(J0)
(2)(50—12)+2=19(TK) 19+3=22(T#)
5. (D2—1=1(kg) 1kg=1000g
1241000500 X1, 5=15(J5)
(2)3.5—1=2.5(kg) 2.5kg=2500g
20+2500+500X 2. 5=232. 5(51.)

F+—iRat

1.0.9 45 172.2 257.4
2.6.9X34+34. 6+9. 6=64. 9(IT)

64.9 5>60 75 A,

w N

=

hFREF(E) R

3.62.5X3.2=200(T2K) 6.8X26=176.8(Tk)
200 FK>176. 8 F2k  THEIMIM.
4. AL . 40X 4+50X 2=260(7T)
300—260=40(J8)
L — A R ER AL — A EBR
5. (1)35X3. 8+50X3.5=308(75)
(2)354+50=85(3Z) 85>80
85X 3. 1=263.5(J0)
6. 240X 0. 49+ (400 —240) X 0. 53+ (425 —400) X
0.79=222.15(T)
7. (85—20X3.5)+5=3() 20+3=23(Nl)
5 — B TR R Bk
1. (1)826  (2)1000 (3)7.99 8.0
H<< > = >
(5)6.12 0.612 612 6.12
(6)2.49 50 0.2; 2.4 4.3 5.7;
8§ 1.25 0.8 1.25
2.(1)5.624 1.0695 1.88 24.5
(2)0.37 9 6.8 2.1
3.(HOB (2)C OB MHC (5HA (6)B
4.100.98 52.52 100 6 90 83
5. (1DD4. 2X2. 5=10. 5(m?)
@20. 6X10. 5=6. 3(T7%)
(2)7.9X4.1=32. 39(m?)
0.6X0. 6X100=36(m?)
32.39 m2<<36 m? .
(3)6.9—14. 6X0. 35=1. 79(km)
(DIEL—4% 23 JLI KK, ALK —4% 46 JLHY
KK,
(5)D340X 2. 7=918(IT)
@ (405—360) X 2. 854360 2. 7=1100. 25(JT)
i B
F—iRat
1. (D84 (2)(6,12) 7 5
2.(1,2) (3,1) 4.4 (5.2) (6,3
3.C
4.(D3 4 (3.4)
(DOA 3(,5) (6,3 (6,2)
418 (8,1) (8,3)
5.%EME T
6. 20X 10=200(H)
%R
1. (DA, (5,1 (9,4) (7.6)
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2.
3.

4.
5.

EY
(D@22

1

—

.3,

(DAL

(4,8

(D9, 4

(DY
(DO UL,D

(DU,

(DEG,D

(D (G,6)

(D
(DR SR E 400 m, BT 200 m b2

(2) W

AT SR
(DAM, D B(7,7) C(7,10)
(2) ) FFF8 5 A% i (4] gk
A'(4,2) B(7,2) C(7.,5
FRmZE A 3 A i P s
A'(1,2) B'4,2) C'4.5) D'(1,5
(L2, (3,5 (8,5 (7,1
(1,6)

=Zignt

D(4,10)

D'(4,5)

(3,3) (3,2) (1.2
(2) /N /NG sk /A
(3)/NEES/NRETR /A
(3,2) (2,3
32 | —

AL 500 m, FEEZR 100 m
PA4E 500 m, FEZR 700 m
LIt 200m, FEH 2R 600m

(4,3)

(7,5)
(6,2)
(2) W
()X — KB T A Ty il AlE 4 BBk R L iERE |
R BRI

(4,6) (10,4) (16,4)

% =B IRAL R A

2 4 (2)(4,3)
(3,2) (5,4)
(3
(6,4) (3,6)
(PRGN HFEEM M
1,6) (1,4)
B'(7.6) C'(7,4)
(2,2) (4,3) (1,4)
(2) F (D PR (2) BEEE T (3) PERL T () BE
(3) = (DR PY (D PEak . (DO FEEE S (D) BE
WD (4,3)
(5,10)

3, D
(2)X
(1,3

(DA 4D I ]

1, 9,3
(2)4

(2)(5,6)  ImEm
pel , EARA B (7.5),
OWEF 3,7 HHFEG,2)

WEIER (9,7 E

- (D

(2)24X (11—2)+3=72(FX)
(88

(3 (11,5  mEmg
= NERRE
£—iRn
Lay 2.4 2 _0.85
4)9.6 24J20.4
8 R 19 2 0
1 6 ke 120 /NS
1 6 120
0 0
(3) 1.6
1524
15 0
9 0
9 0
0
2.13 1.3 4.6 0.46
3.1.6 2.4 0.029 0.08 0.45 1.25
4.33.6
5. (1)84=-30=2. 8(Iifi)
(2)84-+(2.840.2)=28(K)
6. 45.72+9=5.08(m)
(9+45. 08) X 2=28. 16(m)
7.100. 98- (100—1)=1. 02
& iR et
1R 56 2.3, 4.6 BRE/NF 1 /NF KRTF
2.(HDX 4.2 ()X 0.08
3.0.27 30.5 5.06 IREWS
4.25.8419.8=45.6(Jr) 45.6+12=3.8(J0)

45.6+6=7.6(T)
5.0.3 0.3 0.3 0.3 (A7
6. 15. 6 X 3+2=23. 4(TFk /B
7.7.5+(9+3)=2.50J0)
(5—3) X 2.5=5(1)

E IR

LOW 7 H W
(2)D56 @34.02 @100

(2)0. 3

16 5200 325

(3)7.5 7.5 7.5 0.82 82 820
2.31 105 0.05 1600
3.(LX 2.5 (HX 3.2

4.112.5+7.5=15CA)
5.16.2-0.45+10=3.6
MR A

1.140 26 3.64 26
. < = >
3.(HC C

187.5+15=12.501)

4.180 20 7.5 25
5.35+2.5=14(G/kg)
14—13.8=0. 2(5t,/ kg)
B i - A R B s 0. 2 JC,
6.6X13.5+7.2=11. 25(T-30)

7. (1)(74.2—72.4)+6=0. 3(70)
()% — PR T E L I0?

18X0. 3=5, 4(J0) (EFEARME—)

48.3+3,5=13. 8(Jt./kg)

2I[3]
3 [5])8. [0][5]
[1][o](s]
1 05
0
SFHIRA
1L.(1)5 5.5 550 5.496
(22 2.0 202 1 L3 L26; 2 20 197
OX = = =
2.(1)0.3 1.7 (2)0.80 0.99
3.170.3+2.6=65. 5(FH)
255.5+3.5=T3(F)
65.5 TAR<T3 TR /NI AEATHARR,

4. 396075325, 26
5.55. 451, 7a33(4%)
6.3.24 3.24X1.8=5.832
IR

L (/Mg E=E
(2)0.7272- 14 72 72
(3)0. 3232,5. 2325.0. 18;

4.99+.3. 14159+-+ .0, 314726 5
4.99+.0. 314726

(4)4.327 0.538

2.3+1.1=2, 72~2.73
3.38+1.8=1.87~1. 88
13.32+15=0. 888 3--40=0, 075
2,949 0.694 1.000 12.333
< > > =

502, 8~18(%)

AT 344+ (30—24) X 1. 5=43(J0)
B#T :364+(30—24—3) X1. 6=40. 8(JL)

EEL I SN

hFRESF(E) R

43 J6>>40.8 56 B#BTWIE . — LT E 40. 8 T,

7.1.2324>1.2324>1.2324>1. 232
FELiRm

1.0.027 0.054 0.081
0.162 0.189 KImE
2.(D12 11.22 111.222 1111.222
11111. 22222 111111. 222222
(2)3 3.3 3.33 3.333 3.3333
3. (1)4445. 5554 44445, 55554
(2)9.876  9.8765 9.87654
4.(1)0.0324 0.00972 (2)25
(3)0. 1875 0. 09375
5.(111.11 111.11 1111.11
11111.11 12345.67 0.08 11111
(2)1.5 10.5 100.5 987.6 111
9876.5 1111.65 10000.5

6. 99:-9700-:02

201849 201840

% )URAT
1. (D5
2. 240926 ({4
3.37.2+3.8=10(%)

4. (1)75.5+7.82<9(4)
(2)12X9=15~=T7(H)
L10+1.8~5(H)  5X2=10(4)
L (1)2-0. 262=8(4S)
(2)2-+0. 26=7(4>)
7. 36X 37=1332(4>)
210+2=105(3K)

62.5

(D17 (D7

S

iR et

1.10 46.8 9.44 1.48

2.(D1 3 (2 1 (1 1
3.90+1.5—90+2. 5=24(T-k)
4. (199. 8—12X 4. 8) 7. 9=18(4)
5.0.72+(121. 8+203)=1.2

6. 6.5 (0. 3X0.3)a73(H)

73X9.83="717.5901)

7. 45%:34. 5= (5+3X6)=1.50J0)
1. 5X6=90D)

E IR

1.4 0.2 0.01 2 4 0.2 0.01
2.(DB (DA (DA

3.(18—10.5)+2.5=3(%)

4

0.108 0,135

2

3.33333
444445. 555554

1234.56 0.07
1.11
. 66

279000-+-1332~210([fj)
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(=)

p—

p—

(D%

4.5 14,148
(1)200-6, 77429, 54(T5)

Qv e~

(1126

(1) (100—59. 2) +4. 8=8. 5(M)H =81

) BA R Z /P I0?
59, 2-8=7.4(J0) &R ARME—)

. 34814, 5X8. 5=204(5)
. 3. 5X3000X 6=63000 (It
. 205.8+7+3=9.8CK)

9.8X15X6=882f)
32 Fa g 5] D

INEE ()R A

DERE #H—

Loasals

[€DF:<34

(2)510X 8, 72=4447. 2(5T)

5288<0. 86=4547. 68(JL)

4447, 2 JE<TA547.68 JC TEYEE BIARE .
(3)3.4X6. 77223, 02(75) 10023, 0224 (4)
(4)1000 JE N R AT LA si e £ /03607 (5
B2 /NED

1000+6. 7722147, T1(ETT) CE L RME—)

.3 10.50 21
L4 30.4XT7+(7T—3)=53.2(F5)

R AH IO
16.8 10.1 12.5 48 64.7 8.9
176. 4+7+4=6.3(F})
(1.8—0. 3)+12.5=0. 12UNE
2. 5X 10329 (K)
7.5X(7.5-+1. 25)+4820. 94(m?)

R B BT IS LB 767

(100—62) 8. 5a4 (k) (KR AME—)

. (61.6—0.52X100)+0. 8+100=112(T-FH)

FA o Yy
1.68
(2)0.54 0.55 0.545

Q<< > < < > =
(4)0.24 2.4 24 0.024 2.4 24

(5)4.5 4.575 4.57 4.57

(6)10 3
L (HOX 0. 62
45 4279
270
90
90
0

@x 37.8+1.25X0. 8
=30. 24 X0. 8
=24.192
(2)20.3 0.76

3. (DA (DB (3C
4.(D50 0.8 2.8 20
(2)9876 98765 123456 9876543
98765432 (fi J7 Wi 43 24 2 RMfE—)
5.(1)30. 8+4+7=1. 1(kg)
(2)(87.8—39.2)+6=8. 1(JL)
(3)5. 257X 31X (30000--10000) =69, 75 (Iifi)
(DY :49. 5+ (10+1)=4.5(30)

Mot 24, 5X10=45(I%)
(5)275-12. 5=22(#)
(OE=ZNC ('S PE 2 4
(76.8—57.6)+2=9. 6(JC)

AT REE

WHC (5B

12345678

22X5=110(g)

CERAME—)

% —iRn

1L (DARATRE ()40 8 A6 2B A
(33 2

2.1 2 2

3.(OARAHEG)  OTTREGW)  Q)—EW)
4.9

5808 (DA e, (DR ER KA,
(A ZERME— 1 1~5 Ny,

(DB RAME— IR 1~5 Ay,

6.6 3 2 5 1 5 2 6 3 4

% iR at

L(D#F 2 (DOF 4 D

2.4 ¥ a4

3R (DRMA LA RERER,
QOBWALE FEME O KOGRTGRD.

4R (DB RAME—. AT 2. Bl At el

L
(DB ZARME—, AT R 2T L
5.(LB (B

6. ARHERAYATREMC. DA 7 TS  1+6=17,

6+1=7,2+5=7,54+2=7,3+4="7,4+3="7, 4k
JE 8 ILA2+6=8,6+2=38,
3+5=8,5+3=8,4-+4=8,3 5 Fhrl g, HIFIA
NN MR /  o PE (VR = -3 G

6 FTT g

Lk ) AT REPE R
F=igmt
LiE @

2.
3.
4.

2L

10. (DC ¥4

o

(D2

(DY

w N

(RIS RN

(DA C (DA

TN Z .

P (DERAME—, RIRZLOmag o, (14 0%
THa.

(OBEZEAME— RO GEMEE.EREOR

&z,

.([A][A]

@ [A][A][AJ[AJ[AJ[Al[A][d]

B ZARME—)

AN YRR T REME .

5 v 3 TR R Ak
H o4 (OKRTF BOA B C
(4)(3,1).(3,2).(3,3),(3,4).(3,5)
(2)xX (3 X
I
(DA (2C

3HC DB

R (DIRMA RO ROMSO, (WA R

O RO O 4 0 RO OAIR 5,

. BOARKRREGS)D

@%

AR FWE Shim el bR K .
(DR

(2) AT RERED 2 ARCHE IR I )5 2 A
(45 )8 1 ARCGEFR A 1 ARG SE45),
OAFELE  OBRH

HR—10

-

2.3.4.5.6.7.8.9.10,11,12
COYEYE i i 7T RETE K
@)W s

5.6.7.8.9 Kk
2.3.4,10.11,12 /7

- (DA AT RESRAHMAR— &

RN BRI 2 8 12 HORIZ 3 5 11 13
OYCH> B B — 5 19 7T R H 45— 45 0
ATHERE/D.

LELE b PN ES

(2)8.9 7.5CKFEAME—)
@G> < > >

(OIFFF 0.27 0.3 0.27
5y 0.25
61 7 2 9

(D (@3,5)

66.75 0.89

15 B RAME—)

hFREF(E) R

2.(ODX (X BOX WY GX
3.(DA (2C HC B
4.(1)0.062 1 5 620 1.2 500

(2)0.0015 2.82 3.21 2600
(3)0.055 176.22 2 0.42
5.(1)(@3.D
(OR ARETE 6, D
(3)(3,1)
(D) (8,4 (8,3)aK (8,5) % (L ARME—)
6.71. 2+ (71.2—55.2)=4. 45
1.5+ (15—10) X 0. 5=4(JL)
8.29X3.02+0.95X28. 4=114. 56 (JT)
150—114. 56=35. 44(J%)
9. 8X3=29. 400)
35.44 J6>>29. 4 ot L,
9. F#BTT:30— (24+1)=5(£&)
54+5X2. 5=66. 5(70)
BT :30--5X10. 8=64. 8(I0)
64. 8 JG<C66. 5 JC
KBTI SLAF B, — LT 64. 8 JT.
H.EBHE
L A FHETH

KEM 0,4

N

E—ignt
.18 96 6.5a 3y
. (D40+a  (2)a—1850 (3)5a

1

2 (4)y=40
3. (D57 (2)76+m (3)12—a

4

5

(De+12
4.18 30 39 54 84 6x

.(Dat+24 (2)54 (3)96

6. (1)(a+2)em (2)210+2=105(cm)

% iR

1. (D2 (2)200—4x
2.(HX ()X Y

3.2 6 y; m n T
5 4 a; 3.4 a3
4. (2 a—+te) (2)3800
()13 a+=bXe)
5.(1D12a m?*  (2)60 m?

6. (1)16a (2)164*

i
1. (Dn+38

(3)y?
(4 X
7.2 2.8 x3 a 5 4
24 x y

aX (b+c)

(Hm-+30

(2)62n  (3a+1 a+2

2.75x y+2.5 130=~v 712.6+¢t wut

3.5+n s=m mn m=s+n=60+12=5(#)
4.7 240+n at c=at=30X60X2=3600(4>)

89



5. (D8 (2)3a?
(DK :20 em T 18. 75 cm?
6.Sx=a’> Sy=ab—a’
% iR At
1. (D5a+30 —ANWHEERL—1 BB Z D one—
A RER— N BB 2T
(DOEHEMTTEL
(3)67.5 (D1.2
2. (D8+x (2)x—5 (at—a (4)60—4da

(5)90m+n)  (6)(at+b)+(a—b)
3. a1 @O[b-7]b-6
a-1| a |a+l I b b+l
a+7

4. (1)(200—3a)J6  (2)20 JG
5. (D (120—bo)k  (2)80 K
(3)0~48 Z[A] ) F SR%K.

6. Y r=8 i}, 22=8X8=64 4xr=4X8=32;
Mo=08% 4 B, 22 =4z,
£ AR

1.10a 92 y 9m
(D60 60a (2)35x

L (1D0.08m Kk (2)3.6 K
L(D10x M (2120 4R
S(Dab N (236 A

. (1)80t km 48 km
(2)(140—800)km 44 km
7.(DH11 16 21 5a+1
(2)76 4R

w N

SN e

2. R 5o A2
FE—IRET
1.4+7y=25 x+3=10 0.5a=1 a+26=7.2
T A S
2.(HX ()X (DY
3. (D30+2=50 (2)x+5=75
(3)4x—4.8=27.2
. (Da+12=4 (2)12b=360
(3)22+40=180
5.3x=2y 3x—x=10.4 2y—x=10.4
6.6 1.4 8.4
iR
LoV 1 P 552 P2 P 2
(DFR—AH 2O
2.+30 —165 X3 =5

(90

=

3 (D—AER (2R 1A IET K
4.5 a x 2.5
5.2
6.A=3 B=0 C=1 D=2 E=5 F=4
f=iRm
1.98 98 23 (L&HEX O B
2. (Dx=3 2)x=11 Hx=0.8 (DLx=0.9
3.2=3.4 x=39 x=4.3 2=10.8
4. (1)2+2400=3200 =800
(Dx—7.8=7.2 x=15
5. x=7 A& 5x=40 WIfft . x=8 J& 5a=40 [Hf#t .
6. (Dx+42=80 x=38
(Dx—9=12 x=21
(3)4.5+x=6 x=1.5
7.a=11.2
5 MR et
1.x=8 x=10.4 x=18 2=3.9 KKK
2. (1)28x=308 x=11
(2)x=+6=0.5 x=3
(3)1.5x=60 x=40
(Dx+54.5=100 x=45.5
3. (D9x=189 x=21
(D1.5+—x2=6 x=0.25
(3)8.4—x=2.1 x=6.3
4m n n a
5.9 3.4 2.5 0.2
% AR
1. (1)3x+98.4=153 x=18.2
(2)x+20=50X2 =80
(3)25X3+4x=235 x=40
2.2=12 x=13 x=4.8
x=41.5 x=4 x=4.5
3.(HX x=32 (2)X x=18.4
4. (D4x—7.3=13.5 x=5.2
(2)42+7.3=13.5 x=1.55
5.1.3 6.2
FE NIRRT
1. (D2(13+x)=38 x=6
() x+4x=450 =90
(3)3x—15=60 x=25
2. (Dx=10 (2)x=8 (3)x=6.5
3.(h< > ()= <
H<< > D> <
4. (D4x+3x (2)560—4x (3)560—3x

5.a=(37.3+12.7)+2=25
b=37.3—25=12.3

£ iR

1L (DEEERE AN RT3
M EXR EE DT 2—45=5
(DO—FU/NEHFRE 12 — R85
122=9

2.(DA (/) B.(X) C(/) DX
(DA (V) B.(/) C.(X) D.(X)
3. (D B BCE 1 7 b I AR AR « A
x—28=44 =72

() it - BEVRVRB Bh AT e OBk = T
x+56=132 x=76

(3D fift « BRI R Fe AT BRI i BB AR 2 = T
1.62=12.8 =8

(4)6a=21 a=3.5

3.5X 10+ (64+5—10)6=39.5 b=4.5
4. x=54—46=8 y=(46—8X2)+2=15
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